BRAAEFCAHAHRODESLSTE
20124E9H5H
A 7 ¥ £ 5 R A& F E BEF 4
64F = ORF L HIZE A IE) |13 | BRI G (R JFCTM) S
— BHEGEHE%)
9H8H (+) 3FE=8:15HMEA KAG(H#B)TM fHEEII8: 30H# RN EBE
2-14E=9:00 KMES HHAG(~14K)TM
5E=8:300BHESR V- KFERE (FLVEG) o
AFE=12BRAEHEAS XTIV —F OKE#HG13:30K. O) g2yl
58 =6:45HFI<BTM (R ERE YLV~ 7 —F 108K, O) o
9H9H (H) 6+4+3tE=12:00~F K/ MEE RS - BRI
2:-14£=9:00~12: 30 K&/ M#EE /NSEIED
9A13H (K) 6-54£=18:00~20: 0006 K&/ MEEE| #EH -TE
6 =HERDE S
98150 (4) 44 (3) =STAYCOOL #F—#2Hhv7 Hoh—KkE HERIEH
5.3-14E=12:30 FEXRE/ (TM vsIF)lJr) B O -
2UE=%yRXT = RT 475V BREGTFE) NFIED
9A16R (R) 21 %y X=A7 (SR a—)
65 =Funtv 7 (EVEG) PEFF AN TE-EA
5-4E=HPEGHE & R A0 - - e - LI
9H17H () EER-BEF?
3E=9:00~12:00% KE/ N MEE > FVEG HEAH
2-14£=9:00~12:00F K& /NSRRI
9H 200 (K) 6-54£=18:00~20: 0006 K&/ MEEE| #EH -TE
6-5-45FE =12~ 15FFER/INES
9H22H () SE=RKEWLY—7 (FE)
18:30~VEFZB L - ZHKTE GAFVABRERR) | IF-A)ITTE
6:5-4+3- 2= RKE/&A (FE)
9H23H (H) 1FE=F%y XYy H—K& (BHBAGTE) INFIEDS
9H27H(K) 6-5%E=18:00~20:00F KE/NMEAEEE| HEH-712
9H28H (%) é%;/(%;jlé:% (9%4284; 1%/Jz) -
3 ER T ORINE
9A29R (+) F7—§1§$U—12,f1®ﬁ§?ﬁﬁ
EES (FHA)
9A30R (H) F?—iﬂfﬁU-lzllﬂ)ﬁ%aﬁ
10H6H (+) EiHS BERE/NER)
108 7H (B) EES (FHH)
10A8H () AR=TRAR—IR
5E=a2Fhy7 (L XKREERE) FOEG FELEFEE) O
10A13H (+) AE=RFELWI—7 (FE) HERIED
SE=FEBEFAESSS TM HIAR)G HEIEAH
18:30~VEEB L - ZAREE GAAVZHMEAR) | /M F-RII-FTE
10A14H (RH)
108200 (£) BHAATANT =25
108218 (B) SE=KEIYT DO
G =H> B
10A278 (+) SE=KEUV— (P1E)
104 28H (H) B =H7Hh
GEE=H> B
11H3H (+) FAF Y K7 T8 (B H - EFTG)
18:30~MEZB L - ZAKEE| IF-RIITE
11H4H (B) FATHy T HRRE
FAZ Y Ry T T8 (FVEG)
11A10AH (1) ME=REL)—7 (F2)
11H11H(R)
SE=5E)—FLFEKE (FTE: KEEG)
11A17R (£) SAF KIS TR
11A18H (A) SE=5E)—FLFEKRE (FTE: KEHEG)
115235(%) 9/(%“/7(’75)7’19%}%
GEE=H > 7 B (BB5)
114248 (1) E=REW)—F (F5)
11A25H (H)

X JFRAMMIZ, kKRR IX. Pm3:30~5:00=& B FVEG, AEBIX. AFEEPmM6:00~8:00




